. Show that the number of edges in a complete graph

1
K, on n vertices is Pk (n-1).

et ST fof o ¥l &t gof oo K, 4 8 6
) 1

& En(n—l) Bt ¥

. If a be an element of a Boolean algebra, then show

thata+ 1 =1andag. 0 =0.

g g fordll Seita diSTacl &1 e/@@a & @ fag wifvie
fFa+1=1dMa.0=01

. Draw the circuit of the following Boolean function
and its complementary :

S, y) =xy +xy +xy
1 Sefia ®eM qen 9% Yo 1 IRYY BT

SO, y) =xy +xy +x/

. Show that the inverse of a bijection is unique.

fag wifsu f That A==K|s Hor &1 gfaam Afgda

T ¥
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Note .— The question paper is divided into two Sections

A and B. Use of nonprogrammable scientific
calculator is allowed in this paper.

FEer - o' yvA-uF ‘et @R ‘e’ @ wuel | fawifsa §1 s

Y- H AA-THad AEfefthe harmeel & SUEN

I STA T
Section-A 7x1=7
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the

question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 1 mark.
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1. (1)

(i)

(1i1)

(iv)

v)

(vi)

|uUg—31
(afa og ST uv)
Tt gvel & W AR AT A IW R TATEAR
T V=, TF a9 A1 Afeshan 30 vreal § R
FIT | FIF T 1 3F HT 7

Write principle of Duality.
s fagm = fafew

Write inclusion and exclusion principle.

TUEYE d91 e fagra w1 fafem |
Define Alphabet.

Foiaren w1 IR FwifsT |

Write Absorption Law.

sraioo fem fafe )

Define Boolean Expression.

Sefta s @ R #iR
Define Equivalence Relation.

qoad ey w1 gRHea wife |

(vil) Define Planar Graph.

AT ATF ol TR Hifa |
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Section-B 4x10=40
(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 10 marks.
gus—d
(g I q99)

o - fF=l 9 9 & SW Ul 39 et ST Rl

sfereRae 200 ISt H ORI wifSw) vow 99A
10 Sfent =1 ¥

. From the word INDEPENDENCE’ how many
permutations can be formed ?

3% ‘INDEPENDENCE’ ¥ f&ad ®999 aF1@ 1
qHhd ¢ ?

. Show that if any 5 integers from 1 to 8 are chosen,
then at least 2 of them will have a sum 9.

194 8d% § § AR ®E 5 quish 94 I § o 95
FHifST foF T | 9§ FH 2 H AN 9 BT

. What is the probability that a leap year selected at
random will contain 53 Sundays ?
T o 99 h1 Agiesw JAE i W 3HH 53 AR
3T T wifdeRar 1 grft 2

. Show that the set G = {z € C||z| = 1} is an
abelian group for multiplication.

fas wifSe f& ¥9=a G = {z € C||z| = 1}
dfepan & foru smafeam ¥ ¢
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